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1. (2547)

Suppose “Eat” and “Food” are the two major companies of food delivery. The market demand curve is

p=200-Q. Eachcompany has a constant marginal cost of MC = 20.

(1) What is the Cournot model? What are the Nash-Cournot equilibrium prices, quantities, and
profits for each company? .

(2) What will happen if the two companies collude successfully? What do we call this situation?
What will be the new equilibrium prices, guantities, and profits?

(3) Which situation is more efficient for the society? Use numbers and a graph to explain.

2. (1543)
Suppose “Eat” and “Food” are the two choices when you want to order dinner, and you view them as
perfect substitutes.

(1) Show your preference map. Please label your graph clearly.
(2) Set up the utility maximation problem. .
(3) Use the graph to explain how you will make your consumption decision.
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